R VCE & PDF https://www.geekcert.com/2v0-622.html
' 2024 Latest geekcert 2V0-622 PDF and VCE dumps Download
g GeekCert.com

2V 0-62204As

VMware Certified Professional 6.5 — Data Center Virtualization (6.5)
Exam

Pass VMware 2V0-622 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/2v0-622.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

2V0-622 PDF Dumps | 2V0-622 Practice Test | 2V0-622 Exam Questions 1/4


https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html

VCE & PDF https://lwww.geekcert.com/2v0-622.html
2024 Latest geekcert 2V0-622 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

An administrator sets the Failover Capacity for both CPU and Memory at 25%. Based on the Exhibit below, how much
of the cluster\\'s total CPU resources are still available to power on additional virtual machines?

VM1 VM2 VM3 VM4 VM5
2GHz 2GHz 1GHz 1GHz 1GHz |
1GB 1GB 2GB 1GB 1GB

total resource requirements
7GHz, 6GB

H1 H2 H3

9GHz 9GHz 6GHz
9GB 6GB 6GB

total host resources
24GHz, 21GB

A. 45%

B. 60%

C. 70%

D. 25%

Correct Answer: A

The way that Current Failover Capacity is calculated and used with this admission control policy is shown with an
example. Make the following assumptions about a cluster: The cluster is comprised of three hosts, each with a different
amount of available CPU and memory resources. The first host (H1) has 9GHz of available CPU resources and 9GB of
available memory, while Host 2 (H2) has 9GHz and 6GB and Host 3 (H3) has 6GHz and 6GB. ?There are five powered-
on virtual machines in the cluster with differing CPU and memory requirements. VM1 needs 2GHz of CPU resources

and 1GB of memory, while VM2 needs 2GHz and 1GB, VM3 needs 1GHz and 2GB, VM4 needs 1GHz and 1GB, and
VM5 needs 1GHz and 1GB.
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The Configured Failover Capacity is set to 25%. Admission Control Example with Percentage of Cluster Resources
Reserved Policy The total resource requirements for the powered-on virtual machines is 7GHz and 6GB. The total host
resources available for virtual machines is 24GHz and 21GB. Based on this, the Current CPU Failover Capacity is 70%
((24GHz 7GHz)/24GHz). Similarly, the Current Memory Failover Capacity is 71% ((21GB-6GB)/21GB). Because the
cluster\\'s Configured Failover Capacity is set to 25%, 45% of the cluster\\'s total CPU resources and 46% of the
cluster\\'s memory resources are still available to power on additional virtual machines.

QUESTION 2

A vSphere administrator wants to upgrade NFS3 datastores to NFS4.1 on ESXi 6.5 hosts with running
production virtual machines.

Which option is valid?

A. Run ESXi command to upgrade the datastore.

B. Unmount the datastore from a single host, then mount it as NFS 4.1 datastore, and repeat this one host at a time until
the mount has been upgraded on all hosts.

C. Create a new NFS 4.1 datastore, and then use Storage vMotion to migrate virtual machines from the old datastore to
the new one.

D. Right click the datastore and upgrade it as a NFS 4.1 datastore.

Correct Answer: C

QUESTION 3

An administrator wishes to enable network port mirroring based on source port. Which feature should be enabled?
A. vSphere standard switch port

B. ERSPAN

C. NSX Virtual Wire

D. VLAN

Correct Answer: B

Support for ERSPAN ERSPAN mirrors traffic on one or more "source" ports and delivers the mirrored traffic to one or
more "destination” ports on another switch. vSphere 6.5 includes support for the ERSPAN protocol.

QUESTION 4
Which two situations could cause a virtual machine to appear with (orphaned) appended to its name? (Choose two.)
A. if a host failover is unsuccessful

B. if a virtual machine was removed from vCenter Server\\'s inventory
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C. if a virtual machine was deployed from template, and the template has been deleted
D. if a virtual machine is unregistered directly on the host

Correct Answer: AD

QUESTION 5

When using "Cluster resource percentage" for host failover capacity in vSphere HA Admission Control, the total
resource requirements are calculated from which two values? (Choose two.)

A. Total vCPUs assigned to each VM.

B. Average CPU usage on each VM over time.

C. Memory reservations on each VM.

D. Total memory assigned to each VM.

E. Average active memory on each VM over time.
F. CPU reservations on each VM.

Correct Answer:. CF

2V0-622 PDF Dumps 2V0-622 Practice Test 2V0-622 Exam Questions

2V0-622 PDF Dumps | 2V0-622 Practice Test | 2V0-622 Exam Questions 4/4


https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
http://www.tcpdf.org
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html
https://www.geekcert.com/2v0-622.html

